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Year 3

Number line, bridging through
tens, then hundreds.

+20 +3

Year 4

Year b

Year 6

DE Nov17
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159 179 182

Compensating on a number line

43 +49 =7
50
43
N
0 43 92 93

Expanded partitioning method

Column addition up to 3 digits

43 + 24 :3{57?

40 + 20 = 60

3. 4- 7 + 85

43 + 24 = 67 452
11

Column addition up to 4 digits

4324
+4256
8580

1

Column addition (decimals)

HTO
4.2 3
3.14
7.37

Column addition up to any digits

432438
+ 25653
_458091

11

Add decimals with different
decimal places (eg.4.384+2.66)

4.384
+2.660
7.044
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Year 3

Counting back on a number line

24 27 37 47
% __r_“

-3 -10 -10

Counting on method

Subtraction is finding the difference, or distance
between two numbers.

243-87=7?
3 10 | 00 43

AR

Partitioning and decomposition

89 - 57
89 = 80 + 9
- 57 50 + 7

30 + 2 = 32

Formal column method

6 14 1
754
_ 86

668

Year 4

Formal column method up

to 4 digits
6141

7845
- 862

6683

Year 5

Formal column method with 4

digits or more
614 1

7845
- 862

6683

Year 6

DE Nov17

Formal column method -

decomposition

(including 110 1
decimals) 21.18
— 8.43
12.75
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Year 3

Repeated addition
E M;} Llkcplicakion  as
repea ted addition

b |

@R oE =

0T\ T 1o VRN T ioN

6 0 20 30 uo So

10+ 1o + 1o + o THCEEEE

Arrays

9x4=36

4x9=36

Grid Method TO x Ones 23 x 8

x 20 3 160

+ 24
8 |160| 24 184

Progress to Short multiplication

2 4 3 4 2
® 6 X 7
1 4 4 2 3 9 4
2 2 1

Year 4

Grid Method HTOx O, TO x TO

X 70 2
30 | 2100 | 60
8 560 | 16

Short multiplication to 4 digits

2 4 3 4 2

* (] x 7

1 4 4 2 3 9 4
2 2 1

Year b

DE Nov17

Grid method ThHTO x O

Grid method O th x O

9000
(1000 300 0 6 2o \ 12
X 0.9
9 (9000 2700]360] 54|+ 260 27
+ 54| 3 12 (2.7 147
12114 —
Long multiplication of 2 digit hum- 124
bers TO X TO Year 6 X 56
.1 24 744
24 (bx4) X 10 Long multiplication 2 2
120 (6x20
40 ((1)8x4)) 144 (6x24) to 4 digit humbers 7440
200 (10x20) 240 (10x24) 3184
384 384 S===

1
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Year 3

Repeated subtraction using a

number line
— — — —
I T e
R RO P PR P o LT
0 3 & 92 12 15 18

...with remainders

Remainder =2 Quotient=3

r 4

‘\,ﬁ"\. 24\
S E RS

0 4 2 w8 A

fiaa

7 8 5 1011 12 13 14 15 16 17

14 divided by 4. SKip counting towards left.
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Year 4

Year 5
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Chunking on a number line Vertical chunking 33 72-:|
division by chunking o
. S methoc 2 [
Nz‘:;i'éfb L qé“L}.T.ZL;
et -_30 10x
‘{iﬁof\iog,fw 72 =3 12
o diakia T -6 2x
uo uo 6
o 40 0 % -6 2x
How rany lots of i o,L(’aSEW\erf 0
10+ 10+ 4 =24 Answer : 24
32r 4
Formal short division year\ 5 67 196
- 180
1 4 Chunking with 16
2 remainders -1z
7/9 8 4
196 = 6
32 remainder 4 |
Formal short division including y Long Division
ear 6| -9
remainders 2 88
2 8 1 5[4 3 2-0
1 5|4 3 2 3 0
8 6 r2 I
3 1 3 2 1 2 0
1 2 0 158 1 2 0
5,4 3 2 2 120

12 = 4
¥ 5 Answer: 28 &
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